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78 ADPH|s811E8HE 176K — 179K (0f| A:170K)

7E AMH|APMI 509 — 51.4 (0 &+:51.0)

73 ISMH|X Z=YPMI 56.5 — 55.5 (0f| &+:56.0)

DOW30 18355.00 (+0.23%)
NASDAQ 5159.74 (+0.43%)
S&P500 216379 (+0.31%)

NIKKEI225  16083.11 (-1.88%)

SHANGHAI 297846 (+0.24%)

FTSE100 6634.40 (-0.17%)
DAX30 10170.21 (+0.26%)
CAC40 4321.08 (-0.16%)
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SE2/22 11148 (-0.0073)

2/ 112.87 (-0.33)

e/l 101.23 (+0.35)
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WTI 40.83 (+3.30%)

COMEXE 1364.70 (-0.60%)
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AT 1994.79 (-1.20%)
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DAL 698.32 (-0.37%)

21/t 1117.60 M YUH| +2.10¥

*KTB: 111.01, ™ H| -10E

*LKTB: 133.21, ™ H| -42E!
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3y 1247%  (+3.5bp)
Sy 1275%  (+4.5bp)
10y  1425% (+4.7bp)

CD 1.360%  (Obp)

3y -2.5bp (-1.0bp)
Sy -4.0bp (-1.3bp)
10y -13.8bp  (-1.0bp)

8. IRS/CRS =&k IRS 22|= A A

Azmpe 23 A2t BUS. CRSE &
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*IRS 22|

1Y 12600% (+1.75bp)
2Y 12225%  (+2.25bp)
3Y  1.2225%  (+2.75bp)
5Y  12375%  (+3.50bp)
7Y 12475%  (+3.75bp)

10Y 1.2900%  (+4.00bp)

1*2Y  -3.75  (+0.50bp)
2*3Y 000 (+0.75bp)
2*sY 150 (+1.25bp)
3*5Y 150 (+0.75bp)
5*7Y 100  (+0.25bp)

5*10Y 525 (+0.50bp)

*CRS =2

1Y 11800% (+1.0bp)
2Y 1.0450% (+1.0bp)
3y 0.9950%  (+0.5bp)
5Y  0.9400%  (-0.5bp)

7Y 0.9200% (-1.0bp)
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10Y 0.9100% (-1.5bp)
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